What effect does ADDING a BALLOON have on the position of your hot air balloon? 
The balloon goes up. 

What effect does SUBTRACTING a BALLOON have on the position of your hot air balloon?

The balloon goes down. 

What effect does ADDING a SAND-BAG have on the position of your hot air balloon? 

The balloon goes down. 
What effect does SUBTRACTING a SAND-BAG have on the position of your hot air balloon?

The balloon goes up. 
Look at your answers for the last four questions.  Which of these actions achieves the same results? (fill in the blanks and circle the answers to make equivalent (equal) pairs)

Subtracting a balloon = (adding / subtracting)  (balloon / sand-bag)
Subtracting a positive = adding a negative

Subtracting a sandbag = (adding / subtracting)  (balloon / sand-bag)

Subtracting a negative = adding a positive. 
Underneath each of the equivalencies (equal pairs) above, write a mathematical rule by changing “balloon” to “positive” and “sand-bag” to “negative”. 
 


(see “rules” above)
What word would you use to describe the relationship between positive and negative? (Hint:  it’s the same as the relationship between left and right, up and down, stop and go . . . ) ________Opposite______________
Challenge:  Think of a rule for subtracting integers that combines the two rules we had above, and the word you found above.   Try starting with: “To subtract an integer we . . . “
To subtract an integer we add the opposite. 

Name: ________________________








